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Time - 3 hours 
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� - Tffitl\7 (100) 
Subject- M aths 

cfi"aTT- � 

Class - 10th

(1) �� � ctt � '761 t1
(1) use of calculator is not permitted

� - 100 
M.M. - 100

(2) J;[V'l m 1 "tt � � t 1 � (31) "tt sis fcrcn<."1 ™ �(sr) "tt � x�
ctt � \ll2TT �(�")"tr�/��� t I ,r� "9x 1 3i°cfi" 311��ci t I
(2) Question No. 1 has three parts. In Part (A) multiple choice questions in part
(B) fill in the blanks and in Part(C) Write true/false are given each question
carries 1 mark.
(3) �., m 2 "ff 6 (lqJ 3'lfc1 <71�'3-t1�'1 �., t I � "9x 2 3i°cfi" �lsl�ci t I
(3) Question No. 2 to 6 an very short answer type question. Each question carry
2 marks.
(4) �., m 7 "ff 10 (lqJ c;7Q'3-t1�'1 ITT"1" t I J;[� ™ "9x 3 3i°cfi" �l��ci � I
(4) Question No. 7 to 10 an very short answer type question. Each question carry
3 marks.
(5) ™ m 11 "ff 14 (lqJ <71�'3-a�<i ™ t1 � ™ � �1aRcfJ Fc1cfJ<A t1
� J;fV'1" "9x 4 3i°cfi" �l��ci t I
(5) Question No. 11 to 14 an short answer type question. Each question has an

internal choice . Each question carry 4 marks .
(6) J;fV'1" m 15 "ff 16 (lqJ c;7Q'3-t1�'1 ITT"1" t I � J;fV'1" � �iaRcfJ fcrcn<."1 t I
� J;fV'1" "9x 5 3i°cfi" �lsl�ci t I
(6) Question No. 11 to 14 an long answer type question. Each question has an

internal choice . Each question carry 5 marks .
(7) J;fV'1" m 17 "ff 18 (lqJ c;7Q'3-t1�'1 ITT"1" t I � J;fV'1" � �iaRcfJ fcrcn<."1 t I
� J;fV'1" "9x 6 3i°cfi" �l��ci t I
(5) Question No. 17 to 18 an long answer type question. Each question has an
internal choice . Each question carry 6 marks .
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1l'! ( 1) rr. 1U,o• g•10,< RtR.� -
C house and \\oriLc the cu1Ti:e1 optiuu 

(·) •J x� !I)" �x�,,, �

(3:, -:.. 3... , u . 

(TI)-� , -3 
The zeros of 9 - x' ·  will he 

'··) • •  
· J

--� �, -

(,) 3 . -3 

(,) ;;'In "' <lH '!if 

(c) -:� , -5 (d) Nnnc ofLhcsc
�2) <Ft <14'1<6<•1 2x

2 
+ x - 6 = o ,i;, ·•·>1"'1'5< itTT

(3) 49 (,) -7 
(

TJ
', ., \'\.I I lJ 

Discriminanl of Qr111dralic F.qualion 2x'· + x - 6 - 0 will he

�a) 49 (l,) -1 

(c) 6 (d) .<,
(3) f� '1 :i. -a) f<l>{i <1\J"-i�, 4 R•1<1 c), 11 -
(a) �"l'i (•) j,.<f C 
(TI) � (,) � 
l'oinl (2 • -6) lies iu which qu.drnnl 
(a) Firsl (b) Second
(c) Third (d) f ounh

�4) sinO x cosecO <F,"" 'IT'! ir'lT -
(3) · (,) -1 
({i) 0 (�) 2
Value or .�i»JI x co.�ecf/ will he 
\u) I �>) -1
(c) 0 (d) 2
(5) ,:f?, 'f'T <f-1- � � i.t <IT "1"'j;f 'I" 11> 'f"T ;q,rr
(a) 36 ,;,j ��1 (,) 21€ ,,,r {)4'
(TI) e T,'Jf m (,) 100 <flt m
If siJc or iJ (;Ube ls 61;m. then \•aluc or whole surl1:1ci! wil I he

(a) 3G sq.cm (b) 216 sq.cm
(c) 6 sq.cm (d) 200 sq.cm
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